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{Unit ¢ Packet Honors Common Core Math 2

Day 12 HW: Cumulative Review after Unit 4 Test

For exercises 1- 4. Als be?ween B cmd Ccmd AC 5 . ® ;g\ = (;
DIf A}@ = 4, what is BC? \} 2) If BC =6, what is AB?
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State whether each mapping is a reflection, rotation, translation, or glide reflection. Specifically describe
each fransformation. (Example: ~>MNOP -> mRQOP is a reflection over the iine OP.)
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Solve using the appropriate method. Gwe exact answer(s). | Nt 0SS ble
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21) Which is the inverse of the function f(x) = x—57? “3 \m S o L§
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22) Find the discriminant to detc,rmme the number and nature of the roots, 2x” +3x =
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